
� HONDA Application Publication No. 

INSTALLATION 
Mii 15262 

Accessory 

HEATER KIT 

P/N 0SE01-HL4-102 
SXS1000M3/M3P/M5D/M5P Issue Date 

INSTRUCTIONS Revised 
September 04, 2020 

Honda Dealer: Please give a copy of these instructions to your customer. 

PARTS LIST 
(5) (1) 

I I 

(4) 

I 

\:lQ-

(3) 

No. 

(1) 

(2) 

(3) 

(4) 

(5) 

(6) 

(7) 

(8) 

(9) 

(10) 

(11) 

(12) 

(13) 

(14) 

(15) 

(16) 

(17) 

Description 

Heater Unit 

Heater venVlouver 

Bracket, heater unit 

Brace, heater unit 

Filter, blower 

Switch 

Wire-tie, large 

Air wye 

92 inch vent hose 

62 inch vent hose 

48 inch vent hose 

19 inch vent hose 

16 inch vent hose 

14 inch vent hose 

13 inch vent hose 

Coupling, 3/4 to 1/2 inch 

Grommet 

�-(19) 

(18)-� 

(17)-© 

© 2015 American Honda Motor Co., Inc -All Rights Reserved. 

®-(2)

1-(16) 
- -(9,10,11,12,13,14,15) 

i!r1rri 
(22) (23)(24X25)(26) (27) (28) (8) 

Qty No. Description 

1 (18) Hose clamp, #8 

6 (19) Hose clamp, #1 0 

2 (20) Heater hose, 3/4 x 10 inch 

2 (21) Heater hose, 3/4 x 30 inch 

1 (22) Wire tie base 

1 (23) Wire tie, small 

16 (24) #6 x 5/8 in tapping screw 

2 (25) 8-32 x 3/8 in pan head screw 

1 (26) 1/4-20 x 3/4 inch bolt

1 (27) 1/4 inch fender washer 

1 (28) 1/4-20 lock nut 

1 (29) Installation Instruction URL (not shown) 
1 

1 

2 

2 

3 

0SE01-HL4-102 

Qty 

2 

4 

1 

1 

1 

4 

24 

8 

4 

4 

4 

1 

1 of 12 
























